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ING2ATI Emprego do infinitivo e do gerúndio;

1 . The infinitive form of “was” (line 20) is:
a ) be b ) been c ) were d ) am

2. After finishing his graduation he decided ______abroad.
A palavra correta no infinitivo é:
a ) lived b ) lives c) to live d ) liveing

3 . Choose the alternative that presents a verb in its infinitive form.
Alternativas
a ) “Software development is challenging and stressful” .
b ) “it’s tough for developers to find a balance”.
c ) “Being a developer you might have experienced”.
d ) “Developers are struggling with”.

4 . Em inglês, ao usar uma preposição e logo depois dela um verbo, o verbo em questão
deve vir na sua forma no gerúndio, com -ing. Marque a alternativa INCORRETA:
a ) He was tired of waiting and left.
b ) I dream about building my own house.
c ) She’s always been very good at understanding people’s needs.
d )   It’s nice to meet you.

5 . É uma forma verbal caracterizada pela terminação “ing”. Essa forma verbal deve ser
usada sempre após preposições , pós os verbos: come, go, admit, avoid, appreciate,
consider, continue, delay, detest, deny, enjoy, escape, finish, imagine, keep, miss, practice,
resist, suggest, stop, try, understand, após as expressões: Can’t stand , It’s worth:
a ) infinitivo b ) Gerúndio
c ) Present Perfect d ) First Conditional

6 . é a forma original do verbo, que pode aparecer com ou sem a partícula “to”. Deve-se
utilizar após: Os modais (can, could, must, should, may, might). Os verbos auxiliares “do” e
“will”. As conjunções but e except.  Após os verbos: tell, invite, teach, want, invite, remind,
wish, desire. Após adjetivos e após as palavras: too, enough, the first, the last, the only.

a ) infinitivo b ) Gerúndio
c ) Present Perfect d ) First Conditional

7 . I love dancing.
A PALAVRA EM DESTAQUE  ESTÁ:
a ) infinitivo b ) gerúndio c  )futuro d ) passado

8 .  Assinale a alternativa que NÃO ESTÁ NO GERÚNDIO:
a ) John isn't watching a cartoon.



b )  Juliet love working.
c ) . Bryan is having a lot of fun.
d ) . Anna is sleeping.
e ) . Bryan isn't working.

9 . A sentença abaixo apresenta tempo verbal gerúndio, marque alternativa correta:
(FAAP/1997)

The population of the world is ____________.

a) going b) grown up
c) to  grow d) growing

10 . UNESP) Assinale a alternativa CORRETA.

Both Mary and Roger enjoy ________ tennis.

a )  plays b )  played c ) to playing d )  playing


